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Unit 8 Review - Quadratic Funclions Date
What you need to | Things o remember Exompies
know & be able to

do
1. Describe yaQ(x-h)?+k a. Describe the ramsformations ond
transtormations a: stretches/shrinks & name the vertex: ]

from an equation
or graph

reflects
h: shifts left & right
k: shifts up & down

vertex: (h, k)

y=-2(x+3)-9
a:-1:reFlected over
X-axis, stretches by a
fackr of 2
h:+3: lebt 3
K:-4: down 9
vertex: (- 3,-4)

1
1
1

Y IR

2. Create a
function using
transformations

Determine your, g, h,
and k values

a. Opens down, shifts up 3 units and
shrinks by '

opens down: a is (-)
up 3 wnits: K is +3
shri Y4 oi

b. Shifts left 5 ond reflects OCross me

|<F¥ 5 units: h is +5
reflecAs: a is (-)

(y= - (x+5)%)

3. Describe the -Domain: all possible s b. Domain: u
domain and values for x
range. Range: Y -*- = 4 Range: y —‘- q )
-Range: all possible Iz ¥ I
values for y \4 ] »
-“How far up or 3 e 7/ el | T
down does your / *
graph go@” S [ 6
-written as an l 5 \
inequality- 3 4 W G F; s ‘
+ \ 7 ’ [ 5 1 J
i [ 11, \
= 4+ B 2 4 2 x
4. Describe the Zeros and x- a. x-intercepis: { O, O ZEeros: b. x-intercegpts: (-3 0) zeros: =3 3
intercepts and intercepts are the ( 4 f 0) ( 4 j 01 4' 3,0 v ) 4
zZeros. ,ﬁ—om same thing. y-intercept: (0 ” 0) y-intercept: ( 0 ) 4)
‘h\c mPhS Zeros:x= ___
: X-int: (p, 0) (9, 0)
n 3 Y-int: (0, C)
5. Describe the Vertex: highest or a. Vertex: 2-4) Axis of Sym: Y = b. Vertex: ) Axis of Sym: ¢/ =
vertex, axis of lowest point ( / x 2' (0, 4 x 0

symmetry,
extrema, and
min/max values.

from the
raphs in
9 4*5'

Axis of Symmetry: x
value of the vertex;
written as x =

Extrema: Max or
Min?

Max/Min Value:
What's the lowest or
highest your graph
goes; writtenas y =

Max/Min Value:

Min:y=—4

Extrema:

MIN

Max/Min Value:

Max: \’-.-ﬂ'

Extrema:

MAX




6. Find the
average rate of
change gven a
graph

| -Determine your two
x-vOREs ONA fng
ther comespondng
y-vohues on the
POraboio

-Caicuiate the rote
of change (rise over
runj}

mM=Y1"Y,

X;"X,

Z-

7. Graph in vertex
form

1. Determine your
vertex.

2. Create a table
with 2 values to the
left and right of the
vertex.

3. Graph.

A

3
Al"c;f ‘
Vcrhx (h,k

z x iy_}: (

20 0 -1 flo)=-"1

3 | |2 f)=12

. 1215

! (3 2
2
(47

8. Graphin
standard form

wieotl 20)
AF mMetry

1. Determine your

. Create atable
with 2 values to the
left and right of the
vertex.

Vortex: (x, )

Graph

v

Aa=1 b=z 4,c=1

f4)

f 3)

a. Graph the following equation: y = x* +4x +7

-4 7
-3 4
-2 3
-1 14
07

v

9. Graph in 1. Determine your x- Graph the foll i = 1 R
factored form intercepts and plot o-rap © O owing equation: y = (x * )(x 5) ﬂ——os— E:i
them. a=-| X y z
- P, -'
. 2. Determine you n 0 5 =]+5
93P o; wupren (find the Qg's 2
middle of the two x- | 8
5\' intercepts or use * » i =2
. P*al. 2 -
V&\'?"CX (} ‘FU)‘D I q vert 4,:.‘} PR
3. Plot vertex ond it 3 9 LRy )
graph. 1 ( 2
‘l v 4 5 J q)




10. Different Forms | Veriex Form:.

of Quadratics ysQlx-h)? ¢k
{h. k) is veriex
Stondord form:

y=ox?+bx+c
(0, ) is y-intercept

‘"‘.‘nwmclored Form:

y=9(x-plix-q)
(p.0) & (. 0} cre x-
infercepts

A determines if
graph opens up or
down

charociemtics y = 2(x » 4)fs -

Intercept Farm
A=2Z p=-4 q=3

x-mhrar}s (- 4,

f

o. Dﬂermmclormwauocdm . b Outererine Me form and ROCOONed

ldgefead o SUENVERTERNE

‘P"“ UP. Vertex Form

azl h=5 K=9

(h, K= (s, ‘l) .

c: Delerrrmemelormmdos
chorocierishj y=z-x2ebx~1

az=- b=b c=-l

(o,¢) = Co,-1)

b
i
o |

g Dﬂmmmmmw

i charoctermthcs y = -(x ¢ 2

Vertex
az-| h=-2 K=o

(h,k)=> (-2,0)

1. Create Determine the best
equations given form to represent the
characteristics given characteristics

0. Given: x-intercepts of (7, 0) ond
(-8. 0) ond graph opens up

Imtercept Form
o=+l p= 1 q=-8

Y=1(p-1)(q+9)

b. Gven: Vertex of {-3. -6)onogrooh
hasonmiwn

Yertex r..:t \‘.‘
h=-% K= b

Y= - (x+3)*-

.i

Maximum/Minimum
indicate finding the
vertex.

12. Applications of
the Vertex

Describe what you
know about your
equation before
completing any
solving.

Interpret the vertex
in terms of what x
and y represent.

a. The height in feet of a rocket after x_

_secondls given by y =-16x2 + 128x.
What is the maximum height reached
by the rocket and how Tong does it
take to reach that height2

5+anJarJ form
X==b _ -128

2= * zL-lb)' 4 sec.

F4)= - 10(4)* + 128(4)

y= FLx) = £(4) (Lloect

b. The arch of bridge is modeled by
the equationy = -4 [x - 50)2 + 95,
where x represent the horizontal
distance (in feet) and y represents the
vertical distance (in feet}. What is the

maximum height of the arch?
1 value of vertex

vertex = (h,K)

(Y= 95 Fect

The following shows the path of a
pelican flying to catch a fish
swimming in the ocean

™ l('g_d

.......

¢ 344§ 1/ex
»
"\\/

How lo (‘bzfore the pelican
reaches the same height he
started ate

Scconds

¢ reconds

The following shows the path of a
pelican flying to catch a fish
swimming in the ocean

At whot pomt does the pelican reach

the fish2 V< Hex (4/ " 3)
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14. Comparing 4. Which representotion has the b. What representagtion has the g

Quadratic greater y-inlercept: smolles! minmum voiue? .‘
Functions A———— V““" ‘
vnen = X2+ 6x-2 @ 7 vw“
. . B 0 1 2
-infercept: (0, C) ] _21

-3 -2
(0}’2-) y’-s Vak!

B.

X -3 -2 -1 0 1
Y 2 5 6 -5 -2

Y- infercept:
when x=0
(o,-5)

C.y=(x+3)(x-1)

Y -intercept: 2a 20y 2 |
‘F(—d:( O+ 3) ( O") \’ ur 2‘-‘)
¥(o)= -3 y =6

(0,-3)
77




